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INSTRUCTIONS: 
· Attempt all questions in the order they appear in the question paper.
· Attempt all parts of a question together.
· Calculators are allowed.

1. The GNI for an economy is given as 2756000 million USD. Receipts (other current transfers from ROW) are 225300 million USD and Payments (other current transfers from ROW) are 126500 million USD. Consumption of fixed capital is given as 132450 million USD. The GVA at basic prices for three major sectors constituting the economy is 9525000, 8270500 and 7309056 million USD respectively. The product taxes and product subsidies are 1257550 and 256575 million USD respectively. Calculate the following :
1. GDP
1. NDP
1. NNI
1. NNDI  
1. GNDI							        [2+1+1+1+1=6 Marks]
							
1. (i) Compare Market economy and Command economy with two examples of each.
(ii) A country is having GNI per capita of 3900 USD in 2018. There is an increase of 3% in its GNI per capita in 2019. Which category of economy this country falls into in 2019.					                      		         [3+1=4 Marks]	
1. Suppose than an economy consists of only two types of products: Computers and
Automobiles. Sales and price data for these two products for two different years are as shown below:
	Year
	No. of Computers Sold
	Price per Computer
	No. of Automobiles sold
	Price per Automobile

	1990
	500000
	$6000
	1000000
	$12000

	2000
	5000000
	$2000
	1500000
	$20000






(i) Assuming that all computers and automobiles are final goods, calculate nominal GDP in 1990 and in 2000.
(ii) Calculate real GDP in 1990 and 2000, using 1990 as the base year.
(iii) Calculate the percentage change in real GDP between 1990 and 2000 using 1990 as the base year.
(iv) Calculate the GDP deflator in 2000, using 1990 as the base year.
 								             [2+2+2+1=7 Marks]
	
1. Explain the different types of Instruments and major objectives of Fiscal policy. In terms of current economic scenario, give your viewpoint on the present government’s fiscal stance. 						      [8 Marks]


1. Here are some balance of payments data (without pluses and minuses):

Merchandise exports =150
Merchandise imports = 100
Tourism exports = 100
Insurance imports = 70
Income receipts from abroad (profit – multinationals) = 120
Income payments (interest payments) to foreigners= 135
Increase in home country´s ownership of assets abroad =150
Increase in foreign ownership of assets in home countries = 225

Assuming that unilateral transfer equal zero, find the merchandise trade balance, net exports (services and income), the current account balance, the capital and financial account balance and the Official Reserve Assets.  		       [1+1+2+2+1= 7 Marks]       			       
1. (i) What are the possible consequences of higher Crude oil prices on the overall economy?
(ii) Enumerate the major differences between FDI and FPI. Analyze the present FDI and FPI scenario from an Indian prospective.
		          							         [4+4=8 Marks]
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